

How to cite this article: C. Nchikou, "An analytical proposal for solution of Bessel Equation applied on heat transfer for adiabatic finds", *Ing-Nova*, vol. 4, no. 1, pp. 48-58, Ene. 2025.

<https://doi.org/10.32997/rin-2025-5186>

Received: 15 de octubre de 2024

Accepted: 1 de diciembre de 2024

Corresponding author:

Clovis Nchikou

donouclouis@yahoo.fr

Editor: Miguel Ángel Mueses. Universidad de Cartagena-Colombia.

Copyright: © 2025 C. Nchikou. Este es un artículo de acceso abierto, distribuido bajo los términos de la licencia <https://creativecommons.org/licenses/by-nc-nd/4.0/> la cual permite el uso sin restricciones, distribución y reproducción en cualquier medio, siempre y cuando que el original, el autor y la fuente sean acreditados.



CASE STUDY

An analytical proposal for solution of Bessel Equation applied on heat transfer for adiabatic finds

Clovis Nchikou

Universidad Interline, Área Metropolitana de Monterrey, 20 de Noviembre 316 Sur, Centro de Cadereyta Jiménez, Nuevo León, México.

ABSTRACT

In this paper we present the mathematical proof of the solution of the Bessel equation applied to heat transfer for adiabatic extended surfaces. Although the final expression is of common use in engineering such as chemical, mechanical and related engineering, its obtaining from the analysis of the Bessel solution is not easy to find. The solution was obtained by the typical Frobenius Series method.

Keywords: Extended surfaces; Frobenius Series Method; Gamma Function; One-dimension conduction.

Una solución de la Ecuación de Bessel aplicada para la transferencia de calor en aletas adiabáticas

RESUMEN

En este estudio de caso se presenta la demostración matemática de la solución de la ecuación de Bessel aplicada a la transferencia de calor para superficies extendidas adiabáticas. Aunque la expresión final es de uso común en ingenierías como la química, mecánica y afines, su obtención a partir del análisis de la solución de Bessel no es fácil de encontrar. La solución se ha obtenido por el método típico de la serie de Frobenius.

Palabras clave: Conducción unidimensional, Función Gamma, Series de Frobenius, Superficies Extendidas.

1. Introduction

The next equation is the second order differential equation for thermal profile of adiabatic find [1]:

$$\frac{\partial^2 T}{\partial r^2} + \frac{1}{r} \frac{\partial T}{\partial r} - \frac{2h}{kt}(T - T_{\infty}) = 0 \quad (1)$$

with h is the local convection coefficient, k is the thermal conductivity, t is the thickness, T_{∞} is the fluid temperature, r is the radius coordinate y T is the temperature of the system. The Eq. (1) is a special form of Bessel Equation, which can be writing as parametric form [1]:

$$\frac{\partial^2 \theta}{\partial \lambda^2} + \frac{1}{\lambda} \frac{\partial \theta}{\partial \lambda} - m^2 \theta = 0 \quad (2)$$

with:

$$\theta = T - T_{\infty}$$

$$r = \lambda$$

$$m^2 = \frac{2h}{kt}$$

The boundary conditions of this equation are:

$$\lambda = \lambda_1 \rightarrow \theta = \theta_B$$

$$\lambda = \lambda_2 \rightarrow \frac{\partial \theta}{\partial \lambda} \Big|_{\lambda=\lambda_2} = 0$$

The general solution of the modified Bessel equation using a Frobenius is:

$$\theta(\lambda) = C_1 I_0(m\lambda) + C_2 K_0(m\lambda) \quad (3)$$

where I_0 y K_0 are modified Bessel function of zero order of first and second class, respectively, and C_1 y C_2 are integration constants. The evaluation of the boundary conditions permits the obtention of the Eq.(4) in function of I_0 y K_0 .

$$\frac{\theta(\lambda)}{\theta_B} = \frac{I_0(m\lambda)K_1(m\lambda_2) + K_0(m\lambda)I_1(m\lambda_2)}{I_0(m\lambda_1)K_1(m\lambda_2) + K_0(m\lambda)I_1(m\lambda_2)} \quad (4)$$

where $I_1(m\lambda) = \frac{d[I_0(m\lambda)]}{d\lambda}$ and $K_1(m\lambda) = -\frac{d[K_0(m\lambda)]}{d\lambda}$ are modified Bessel function of first and second order, for first and second class, respectively.

2. Demonstration (Results)

Modified Bessel differential equation has a next form [2]:

$$x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + (m^2 x^2 - \nu^2) y = 0 \quad (5)$$

Comparing the Eq. (5) with Eq. (2), we noted that Eq. (2) has a modified form of Bessel Equation.

The typical solution of the Eq. (5) is:

$$y(x) = C_1 I_\nu(mx) + C_2 K_\nu(mx) \quad (6)$$

Using the parametric notation in function of θ and λ :

$$\theta(\lambda) = C_1 I_\nu(m\lambda) + C_2 K_\nu(m\lambda) \quad (7)$$

If $\nu = 0$, so it obtains the modified Bessel of zero order of first and second class:

$$\theta(\lambda) = C_1 I_0(m\lambda) + C_2 K_0(m\lambda) \quad (8)$$

where $I_0(m\lambda)$ is a Bessel function of order zero of the first class and $K_0(m\lambda)$ is a Bessel function of order zero of second class.

Applying the Frobenius Method, the following solution is proposed for the second order equation [3]:

$$\theta = \sum_{n=0}^{\infty} C_n \lambda^{n+\alpha} \quad (9)$$

Now, the first and second derivatives are calculated:

$$\frac{\partial \theta}{\partial \lambda} = \sum_{n=0}^{\infty} (n + \alpha) C_n \lambda^{n+\alpha-1} \quad (10)$$

$$\frac{\partial^2 \theta}{\partial \lambda^2} = \sum_{n=0}^{\infty} (n + \alpha)(n + \alpha - 1) C_n \lambda^{n+\alpha-2} \quad (11)$$

Replacing Equation (10) and Eq. (11) in the differential Eq. (1) we have:

$$\sum_{n=0}^{\infty} (n + \alpha)(n + \alpha - 1) C_n \lambda^{n+\alpha-2} + \frac{1}{\lambda} \sum_{n=0}^{\infty} (n + \alpha) C_n \lambda^{n+\alpha-1} - m^2 \sum_{n=0}^{\infty} C_n \lambda^{n+\alpha} = 0$$

Factoring λ^α parameter:

$$\lambda^\alpha \left[\sum_{n=0}^{\infty} (n + \alpha)(n + \alpha - 1) C_n \lambda^{n-2} + \frac{1}{\lambda} \sum_{n=0}^{\infty} (n + \alpha) C_n \lambda^{n-1} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n \right] = 0$$

$$\lambda^\alpha \left[\sum_{n=0}^{\infty} (n+\alpha)(n+\alpha-1)C_n \lambda^{n-2} + \sum_{n=0}^{\infty} (n+\alpha)C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n \right] = 0$$

$$\lambda^\alpha \left[\sum_{n=0}^{\infty} ((n+\alpha)(n+\alpha-1) + (n+\alpha))C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n \right] = 0$$

$$\lambda^\alpha \left[\sum_{n=0}^{\infty} ((n+\alpha)(n+\alpha))C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n \right] = 0$$

$$\lambda^\alpha \left[\sum_{n=0}^{\infty} (n+\alpha)^2 C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n \right] = 0$$

Expanding the first series in $n = 0$:

$$\lambda^\alpha [\alpha^2 C_0 \lambda^{-2} + \sum_{n=1}^{\infty} (n+\alpha)^2 C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n] = 0$$

Now, we have a first result $\alpha^2 C_0 \lambda^{\alpha-2} = 0$, with logical restrictions $C_0 \neq 0$ y $\lambda^{\alpha-2} \neq 0$ then:

$$\sum_{n=1}^{\infty} (n+0)^2 C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n = 0$$

$$\sum_{n=1}^{\infty} n^2 C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n = 0$$

In order to factor the summations it is necessary that the limits of the series as the powers of the function are symmetric. We expand the first series by $n = 1$:

$$C_1 \lambda^{-1} + \sum_{n=2}^{\infty} n^2 C_n \lambda^{n-2} - m^2 \sum_{n=0}^{\infty} C_n \lambda^n = 0$$

By doing $n = k + 2$ for the first series, and $n = l$ for the second series:

$$C_1 \lambda^{-1} + \sum_{k=0}^{\infty} (k+2)^2 C_{k+2} \lambda^k - m^2 \sum_{l=0}^{\infty} C_l \lambda^l = 0$$

It was obtained that the series and their powers are symmetrical, therefore $k = l$

$$C_1 \lambda^{-1} + \sum_{k=0}^{\infty} (k+2)^2 C_{k+2} \lambda^k - m^2 \sum_{k=0}^{\infty} C_k \lambda^k = 0$$

The sum is factored and ordered:

$$C_1 \lambda^{-1} + \sum_{k=0}^{\infty} [(k+2)^2 C_{k+2} - m^2 C_k] \lambda^k = 0$$

A second important result is obtained, $C_1 \lambda^{-1} = 0$, pero $\lambda^{-1} \neq 0$, so $C_1 = 0$, therefore:

$$\sum_{k=0}^{\infty} [(k+2)^2 C_{k+2} - m^2 C_k] \lambda^k = 0$$

with condition:

$$(k+2)^2 C_{k+2} - m^2 C_k = 0$$

It is explicitly expressed C_{k+2} as:

$$C_{k+2} = \frac{C_k}{(k+2)^2} m^2 \quad (12)$$

A generalized recurrence relationship is then obtained for C_{k+2} :

$$k = 0: C_2 = \frac{C_0}{(2)^2} m^2$$

$$k = 1: C_3 = \frac{C_1}{(3)^2} m^2 = 0 \rightarrow C_1 = 0$$

$$k = 2: C_4 = \frac{C_2}{(4)^2} m^2 \rightarrow C_4 = \frac{1}{(4)^2} \frac{C_0}{(2)^2} m^4$$

$$k = 3: C_5 = \frac{C_3}{(5)^2} m^2 = 0 \rightarrow C_3 = 0$$

$$k = 4: C_6 = \frac{C_4}{(6)^2} m^2 \rightarrow C_6 = \frac{1}{(6)^2} \frac{C_0}{(4)^2 (2)^2} m^6 \rightarrow \frac{1}{(6)^2} \frac{C_0}{(2)^6} m^6$$

$$k = 5: C_7 = \frac{C_5}{(7)^2} m^2 = 0 \rightarrow C_5 = 0$$

$$k = 6: C_8 = \frac{C_6}{(8)^2} m^2 \rightarrow C_8 = \frac{1}{(8)^2} \frac{C_0}{(6)^2 (2)^2} m^{12} \rightarrow \frac{1}{(6)^2} \frac{C_0}{(2)^6} m^{12}$$

From the above expressions it can be concluded that the odd terms are zero, while the pairs are non-zero, now be it $2n = k + 2$, then $k = 2n - 2$, replacing in Eq. (12):

$$C_{2n} = \frac{C_{2n-2}}{(2n)^2} m^2$$

developing the expression:

$$n = 1: C_2 = \frac{C_0}{(2)^2} m^2$$

$$n = 2: C_4 = \frac{C_2}{(4)^2} m^2 \rightarrow \frac{1}{(4)^2} \frac{C_0}{(2)^2} m^4$$

$$n = 3: C_6 = \frac{C_4}{(6)^2} m^2 \rightarrow C_6 = \frac{1}{(6)^2} \frac{1}{(4)^2} \frac{C_0}{(2)^2} m^6 \rightarrow C_6 = \frac{1}{(6)^2} \frac{C_0}{(2)^6} m^6$$

Generalizing, in terms of C_0 :

$$C_{2n} = \frac{C_0}{(n!)^2} \left(\frac{m}{2}\right)^{2n} \quad (13)$$

Replacing in Eq. (9) and according to the results obtained for $\alpha = 0$:

$$\theta = \sum_{n=0}^{\infty} \frac{C_0}{(n!)^2} \left(\frac{m}{2}\right)^2 \lambda^{2n} \quad (14)$$

$$\theta = C_0 \sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{m\lambda}{2}\right)^{2n} \quad (15)$$

The above expression corresponds to a modified Bessel function of order zero and of first class [4]:

$$I_0(m\lambda) = \sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{m\lambda}{2}\right)^{2n} \quad (16)$$

By replacing in (9):

$$\theta = C_0 I_0(m\lambda) \quad (17)$$

We now determine the second-class modified Bessel function, which by definition is expressed as follows [4]:

$$K_v(x) = \frac{\pi(I_{-v}(x) - I_v(x))}{2\sin(\pi v)} \quad (18)$$

Applying limit: $v \rightarrow \mu$

$$K_\mu(x) = \lim_{v \rightarrow \mu} K_v(x)$$

Using L'Hopital for the limit of $K_n(x)$:

$$K_\mu(x) = \lim_{v \rightarrow \mu} K_v(x) = \lim_{v \rightarrow \mu} \frac{\frac{\partial}{\partial v} [\pi(I_{-v}(x) - I_v(x))]}{\frac{\partial}{\partial v} (2 \sin(\pi v))}$$

$$= \lim_{v \rightarrow \mu} \frac{\pi \left[\frac{\partial}{\partial v} I_{-\nu}(x) - I_{\nu}(x) \right]}{2 \pi \cos(\pi v)}$$

$$= \lim_{v \rightarrow \mu} \frac{1}{2 \cos(\pi v)} \left[\frac{\partial}{\partial v} I_{-\nu}(x) - \frac{\partial}{\partial v} I_{\nu}(x) \right]$$

According to the property $\frac{\partial}{\partial v} I_{-\nu}(x) = -\frac{\partial}{\partial v} I_{\nu}(x)$, by replacing:

$$= \lim_{v \rightarrow \mu} \frac{1}{2 \cos(\pi v)} \left[-\frac{\partial}{\partial v} I_{\nu}(x) - \frac{\partial}{\partial v} I_{\nu}(x) \right]$$

$$= \lim_{v \rightarrow \mu} \frac{1}{\cos(\pi v)} \left[-\frac{\partial}{\partial v} I_{\nu}(x) \right]$$

Now evaluating the limit for $\mu = 0$.

$$K_0(x) = - \left[\frac{\partial}{\partial v} I_{\nu}(x) \right]_{v=0} \quad (19)$$

The modified Bessel function $I_{\nu}(x)$ is defined as [4]:

$$I_{\nu}(x) = \left(\frac{x}{2}\right)^{\nu} \sum_{n=0}^{\infty} \frac{1}{n! \Gamma(n+1)} \left(\frac{x}{2}\right)^{2n} \quad (21)$$

By property of Gamma Function $\Gamma(n+1) = n!$, replacing in Eq. (21) [5]:

$$I_0(x) = \sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{x}{2}\right)^{2n} \quad (22)$$

Equation (16) satisfies the form of the Eq. (22). Deriving now $I_{\nu}(x)$ in function of ν :

$$\frac{\partial}{\partial v} I_{\nu}(x) = \left(\frac{x}{2}\right)^{\nu} \left[\sum_{n=0}^{\infty} \left(\frac{1}{n!}\right) \left(\frac{x}{2}\right)^{2n} \left(-(\Gamma(n+\nu+1))^{-2}\right) \psi(n+\nu+1) \Gamma(n+\nu+1) \right]$$

$$+ \left(\frac{x}{2}\right)^{\nu} \ln\left(\frac{x}{2}\right) \sum_{n=0}^{\infty} \frac{1}{n! \Gamma(n+\nu+1)} \left(\frac{x}{2}\right)^{2n}$$

Simplifying and factoring:

$$\frac{\partial}{\partial v} I_{\nu}(x) = \left(\frac{x}{2}\right)^{\nu} \sum_{n=0}^{\infty} \frac{1}{n! \Gamma(n+\nu+1)} \left(\frac{x}{2}\right)^{2n} \left[\ln\left(\frac{x}{2}\right) - \psi(n+\nu+1) \right] \quad (23)$$

where $\psi(n + v + 1) = \frac{\Gamma'(n+v+1)}{\Gamma(n+v+1)}$. Replacing Eq. (23) in Eq. (19):

$$K_0(x) = - \left[\left(\frac{x}{2} \right)^v \sum_{n=0}^{\infty} \frac{1}{n! \Gamma(n+v+1)} \left(\frac{x}{2} \right)^{2n} \left[\ln \left(\frac{x}{2} \right) - \psi(n+v+1) \right] \right]_{v=0} \quad (24)$$

By evaluation in $v = 0$ and using the Gamma Function property $\Gamma(n+1) = n!$ [5]:

$$K_0(x) = - \left[\sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{x}{2} \right)^{2n} \left[\ln \left(\frac{x}{2} \right) - \psi(n+1) \right] \right] \quad (25)$$

$$K_0(x) = - \ln \left(\frac{x}{2} \right) \left(\sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{x}{2} \right)^{2n} \right) + \left(\sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{x}{2} \right)^{2n} \right) \psi(n+1) \quad (26)$$

By replacing on Eq. (22) in Eq. (26):

$$K_0(x) = - \ln \left(\frac{x}{2} \right) I_0(x) + I_0(x) \psi(n+1) \quad (27)$$

Now, it is defined $\psi(n+1) = -\gamma + 1 + \frac{1}{2} + \frac{1}{3} + \dots$ and for $\psi(0) = -\gamma$. It is possible to write the function $\psi(n+1)$ as:

$$\psi(n+1) = \psi(0) + \sum_{p=1}^n \frac{1}{p} = -\gamma + \sum_{p=1}^n \frac{1}{p} \quad (28)$$

with γ as a Euler constant. By replacing Eq. (28) in Eq. (27):

$$K_0(x) = - \left(\ln \left(\frac{x}{2} \right) + \gamma \right) I_0(x) + I_0(x) \left(-\gamma + \sum_{p=1}^n \frac{1}{p} \right) \quad (29)$$

Simplifying and writing the Eq. (29):

$$K_0(x) = - \left(\ln \left(\frac{x}{2} \right) + \gamma \right) I_0(x) + \left(\sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{x}{2} \right)^{2n} \right) \left(\sum_{p=1}^n \frac{1}{p} \right) \quad (30)$$

Using a change of variable $x = m\lambda$ and modified the Eq. (30):

$$K_0(m\lambda) = - \left(\ln \left(\frac{m\lambda}{2} \right) + \gamma \right) I_0(m\lambda) + \left(\sum_{n=0}^{\infty} \frac{1}{(n!)^2} \left(\frac{m\lambda}{2} \right)^{2n} \right) \left(\sum_{p=1}^n \frac{1}{p} \right) \quad (31)$$

Eq. (31) is a modified Bessel function of zero order and of the second kind [4]. The general solution for the differential heat transfer equation of an annular fin is:

$$\theta(\lambda) = C_1 I_0(m\lambda) + C_2 K_0(m\lambda) \quad (32)$$

where $I_0(m\lambda)$ y $K_0(m\lambda)$ are defined by Eq. (16) and Eq. (31), respectively. Evaluating the boundary conditions for the adiabatic fin: First boundary condition $\theta(\lambda_1) = \theta_B$:

$$\theta(\lambda_1) = \theta_B = C_1 I_0(m\lambda_1) + C_2 K_0(m\lambda_1) \quad (33)$$

The second boundary condition requires the derivate of Eq. (32):

$$\frac{\partial \theta}{\partial \lambda} = C_1 I'_0(m\lambda_1) + C_2 K'_0(m\lambda_1) \quad (34)$$

In the modified Bessel functions it is satisfied that $I'_0(x) = I_1(x)$ and $K'_0(x) = -K_1(x)$. The functions $I_1(x)$ and $K_1(x)$ are modified Bessel functions of first order and of first and second class respectively. By replacing in Eq. (34):

$$\frac{\partial \theta}{\partial \lambda} = C_1 I_1(m\lambda) + C_2 K_1(m\lambda) \quad (35)$$

Evaluating the second boundary condition $\frac{\partial \theta}{\partial \lambda} |_{\lambda=\lambda_2} = 0$ in the Eq. (35):

$$\frac{\partial \theta}{\partial \lambda} |_{\lambda=\lambda_2} = 0 = C_1 I_1(m\lambda_2) - C_2 K_1(m\lambda_2) \quad (36)$$

The following system of equations is obtained:

$$C_1 I_0(m\lambda_1) + C_2 K_0(m\lambda_1) = \theta_B \quad (37)$$

$$C_1 I_1(m\lambda_2) - C_2 K_1(m\lambda_2) \quad (38)$$

Solving for C_1 in Eq. (38):

$$C_1 = \frac{C_2 K_1(m\lambda_2)}{I_1(m\lambda_2)} \quad (39)$$

By replacing Eq. (39) in Eq. (37):

$$\frac{C_2 K_1(m\lambda_2)}{I_1(m\lambda_2)} I_0(m\lambda_1) + C_2 K_0(m\lambda_1) = \theta_B \quad (40)$$

$$\frac{C_2 K_1(m\lambda_2) I_0(m\lambda_1) + C_2 K_0(m\lambda_1) I_1(m\lambda_2)}{I_1(m\lambda_2)} = \theta_B \quad (41)$$

Solving to C_2 from Eq. (41):

$$C_2 = \frac{\theta_B I_1(m\lambda_2)}{K_1(m\lambda_2) I_0(m\lambda_1) + K_0(m\lambda_1) I_1(m\lambda_2)} \quad (42)$$

By replacing of Eq. (42) in Eq. (39):

$$C_1 = \left(\frac{\theta_B I_1(m\lambda_2)}{K_1(m\lambda_2) I_0(m\lambda_1) + K_0(m\lambda_1) I_1(m\lambda_2)} \right) \frac{K_1(m\lambda_2)}{I_1(m\lambda_2)} \quad (43)$$

$$C_1 = \left(\frac{\theta_B K_1(m\lambda_2)}{K_1(m\lambda_2) I_0(m\lambda_1) + K_0(m\lambda_1) I_1(m\lambda_2)} \right) \quad (44)$$

Using C_1 and C_2 in the general solution of the modified Bessel differential equation:

$$\theta(\lambda) = \left(\frac{\theta_B K_1(m\lambda_2) I_0(m\lambda)}{K_1(m\lambda_2) I_0(m\lambda_1) + K_0(m\lambda_1) I_1(m\lambda_2)} \right) + \left(\frac{\theta_B I_1(m\lambda_2) K_0(m\lambda)}{K_1(m\lambda_2) I_0(m\lambda_1) + K_0(m\lambda_1) I_1(m\lambda_2)} \right) \quad (45)$$

Factorizing θ_B and simplifying:

$$\frac{\theta(\lambda)}{\theta_B} = \left(\frac{K_1(m\lambda_2) I_0(m\lambda_1) + I_1(m\lambda_2) K_0(m\lambda)}{K_1(m\lambda_2) I_0(m\lambda_1) + K_0(m\lambda_1) I_1(m\lambda_2)} \right) \quad (46)$$

Eq. (46) corresponds to the solution to the differential heat transfer equation of an annular adiabatic fin [1]. The problem is demonstrated.

3. Conclusions

In this work, the mathematical development for obtaining the solution of the Bessel Equation applied to the description of heat transfer processes in adiabatic extended surfaces was presented. This intellectual effort serves as support to students of chemical and mechanical engineering and other related engineering careers, in the analysis and dimensioning of thermal equipment.

Authors' contributions

All contributions in the manuscript are from C. Nchikou.

Acknowledgments

Not manifested

References

- [1] F.P. Incropera, D.P. Dewitt, T.L. Bergman, A.S. Lavine, "One-Dimensional, Steady-state Conduction," in *Fundamentals of heat and mass transfer*, 6th Edition, John Wiley & Sons, Inc, United States, pp. 137-161, 2007.
- [2] Z. Jin, "Chapter 1 - Ordinary Differential Equations and Power Series Solutions," Engineering Analysis: Advanced Mathematical Methods for Engineers, 225, pp. 3-34. <https://doi.org/10.1016/B978-0-323-95397-9.00001-7>.
- [3] Z. Jin, "Chapter 2 – The Frobenius Method," Engineering Analysis: Advanced Mathematical Methods for Engineers, 225, pp. 35-63. <https://doi.org/10.1016/B978-0-323-95397-9.00002-9>.
- [4] Y. Özkan, S. Korkmaz, E. Deniz, "The monotony of the q-Bessel function," *Journal of Mathematical Analysis and Applications*, In Press, Art. 129439, March., 2025. <https://doi.org/10.1016/j.jmaa.2025.129439>.
- [5] E.J.M. Veling, "The generalized incomplete Gamma Function as sum over Modified Bessel Functions of the First Kind," *Journal of Computational and Applied Mathematics* vol. 235, pp. 4107-4116, 2011. <http://dx.doi.org/10.1016/j.cam.2011.03.001>.